2000 = =0l & 2 BHa A

ton

SN FOIME X D
M XoIASI =R E
Sl XISIASl SXIDIEF E4

A

SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
Ol & T2 1t 6,146,907 6,062,491 84,416
= 1,309,420
= 207,694
& 555,217
Al 4,074,576
NSAAS=RD1E 25 2,738,832 3,109,789 A 370,957
= 1,285,081
207,694
& 377,079
Al 868,978
NS Atsl =SX0IgH =4 337,276 148,163 189,113
= 3,000
& 10,000
Al 324,276
OITHEI S AL 7,210 26,070 A 18,860
201 Let3| 7,210 6,070 1,140
01 At 2eld] 7,210 6,070 1,140
O1 get===2H| 7,210
DIl ASHE 7,210
OLATRSME 4,100& * 5004 205
S2TPEHE(QIZE
43,8003 5004 2,190
OS=2RSHE(NES-EX)
22,0002 * 5004 1,100
OSZ2RSHE(MNAS-UAL)
24,0003 * 504 1,200
OMIIREHE 40,6003 + 2504 1,015
OMNESESE 30,000& 5074 1,500
NGA=REe 249 50,000 40,000 10,000
& 10,000
Al 40,000
307 gQiz2told 50,000 40,000 10,000
& 10,000
Al 40,000
02 BIZHEANE X 50,000 40,000 10,000




SA: MBI A
M XA =X P
el KISIAE =XJI8 F A (ct9): A

SN EE - S (BH) -

=
I
1
e
0x
Jo
=
22
Jo
20
B
2
==
£l
Ol
0

OXSAZZ2XNE s 29

50,000,0008 * 141 50,000
< 10,000
Al 40,000
ZOUMBTAMYA QBEOH 2 31,040 23,080 7,960
201 Yer2y| 5,040 3,080 1,960
01 ARl 5,040 3,080 1,960
03 2¥+g 5,040
>oIBE O AR 2T
70,0002 * 1891 43l 5,040
307 SI2to0lA 26,000 20,000 6,000
02 QIZHATE 26,000 20,000 6,000
OUREIAT 2 20,000,0008 * 141 20,000
ODZFM 2 2
1,000,008 * 674t 6,000
MEIZXIHE R A 8,000 8,000 0
307 BI2tolA 8,000 8,000 0
02 QIZHATE 8,000 8,000 0
OM 143l AtSISXICHSH & A
8,000,0008 * 14} 8,000
ZOIMEXE SEOHNA 22t 12,280 9,280 3,000
201 Ler2y| 7,000 4,000 3,000
01 ARl 7,000 4,000 3,000
O1 Yptsg| 7,000

DEDIMEXRAYA BSOUA =2
=]

o2t 1,000,000& = 43| 4,000

DBUAMHI ARl HLH AL &2t

6,0002! * 5005 3,000
202 01l 5,280 5,280 0
01 =LHoit] 5,280 5,280 0

OFMETR 42 £3 0fY]
5,280,008 * 14! 5,280

S8 XA 18,000 18,000 0
202 OiHl 18,000 18,000 0
01 =0l 18,000 18,000 0

18,000,000& * 14 18,000




A =X E Y
M NFA S X018 25

&Rl XAtgl SX0/gt &4 (el &)
5 o HE T
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
NEISTSASSUSHEH 29 10,000 10,000 0
307 QI2t0l & 10,000 10,000 0
02 QAABNTX 10,000 10,000 0
OALZ S X SAESUSHE=2Y
10,000,000 * 14! 10,000
JIZZCYINAYLY 10,000 10,000 0
307 QI2tolH 10,000 10,000 0
02 ABNEX 10,000 10,000 0
OJI=FEYIANY 2
10,000,000& = 14l 10,000
ZoYWISIHH XY 3,733 3,733 0
== 3,000
Al 733
402 QIEXFEO0IH 3,733 3,733 0
== 3,000
Al 733
01 QIZREEZR 3,733 3,733 0
OZEW 2L &dl N
3,733,0008 * 14| 3,733
£ 3,000
Al 733
AFAARREHE 222 172,253 0 172,253
401 AlEHIL 2T 172,253 0 172,253
01 A& 166,929 0 166,929
OAlBIZstdlH el22 166,929, 000& * 14! 166,929
02 el 4,122 0 4,122
OAlBIZ2stdlH el22 4,122,000 *14] 4,122
03 Al&=HHl 1,202 0 1,202
OAIE R4l 166,929,000% *0.72/100 1,202
AFA MEEXHE 29 14,760 0 14,760
201 YErRH| 14,760 0 14,760
01 AP2Z2lH| 1,100 0 1,100
O1 get==Z4] 1,100
DEE3 A 300,000& 23| 600
>ESE HA 500,0002! *13] 500




L FOIMEX R
IENEE P
L XISiASl ZXIDIF E4

SN CR(B) - MEAY - B Aro e =2
02 232934l 13,660 0 13,660
O3 A& & Hl= X4l 13,660
> AR SXIHE AlE,ZHl, A= S Xl
13,660,000 » 14! 13,660
M =X F® XA 1,011,095 1,823,864 A812,769
= 606,836
= 50,518
L= 86,770
Al 266,971
MIISXAMESAL SX+S (2 -=500A4 29,160 731,520 A702,360
& 8,748
Al 20,412
307 QIt0IA 29,160 731,520 AT702,360
= 8,748
Al 20,412
02 QtFAE X 29,160 731,520 A702,360
OAEBISXNAIESAL S+
29,160,000& = 14 29,160
= 8,748
Al 20,412
SUAZRERE 243 146,600 145,014 1,586
= 50,518
Al 96,082
301 Lptsaazg 146,600 145,014 1,586
= 50,518
Al 96,082
09 ZSUZIRRIELS 146,600 145,014 1,586
OSAZ20F SA22A 24 146,600
>S4l 5,000& x110Q1x21* 123 138,600
= 46,743
Al 91,857
> Jt= 4] 1,500, 000& #5021 7,500
= 3,750
Al 3,750
DOotE NS AN 50,000& x10¢! 500

HI

25




A =X E Y
M NFA =S X018 25

CHRl: ALBISX B X & (Er9): & 2)
_ _ _ Muo
SN - EH . S(3) - MRAY - BES Ofl & 04 Sl ko HRz2
Al 475
KNSA A A A AL 835,335 865, 130 AN29,795
= 606,836
S 78,022
Al 150,477
307 g2iz2told 835,335 865, 130 AN29,795
2 606,836
S 78,022
Al 150,477
05 QIRIEZz 835,335 865,130 AN29,795
OXI%ALSI A HI A8 A1 ALY
835,335,000& * 14 835,335
= 606,836
= 78,022
Al 150,477
HASHSHST & 532,620 524,400 8,220
= 185,000
= 104,875
Al 242,745
AMn2s N& 61,320 77,600 A 16,280
201 LEHRHH| 11,100 37,600 A 26,500
01 AR 2cldl 2,100 2,100 0
03 2g+g 2,100
DEAZSREE =E 70,0003 x5! %62 2,100
03 A2 Y] 9,000 35,500 26,500
OFAOIOIE & 9,000
> 2F AR 50,000 104 500
DEAEE 1,500& *5,000H 7,500
D> & A S TN 100,000 10K 1,000
303 Eiaz 5,400 3,000 2,400
01 Za= 5,400 3,000 2.400
OHNSE 2484 Z43
900, 00021 +6)H S 24 S 5,400
307 QI2told 44,820 37,000 7,820
02 2ItAa=2x 44,820 37,000 7,820




S A
X XH .
(=

chel:

2014 ST 2 Dt
KASI =X I8 2=

MNASHAASNE

_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES O AF K '@,‘;OH Hlw &2
OANBINZED BA2S 2|
40,000,0002! *14! 40,000
OFNSE +4E(R, 26 HFAFR)
1,0042!%5,00024 %128 +8/100 4,820
SR 231,250 212,500 18,750
= 185,000
= 13,875
Al 32,375
301 YsrEaa 231,250 212,500 18,750
= 185,000
= 13,875
Al 32,375
JIEEEEETE 231,250 212,500 18,750
SEIEE I 231,250,000 * 14! 231,250
= 185,000
= 13,875
Al 32,375
RaSBIEAE N 91,000 91,000 0
= 91,000
301 YerEaa 91,000 91,000 0
= 91,000
NIEEEEESE 91,000 91,000 0
ORISR S X2 91,000,000 * 14! 91,000
= 91,000
2275 X2 38,000 30,000 8,000
201 Y2yl 3,000 0 3,000
01 AF=2eltl 3,000 0 3,000
O1 Yptsgy| 3,000
> 8| 22009 LHs2H Ol £/ LBk 8|
3,000,0008 * 14} 3,000
301 YprEaI 10,000 10,000 0
01 AEIBEEZLG3 10,000 10,000 0
OERNE ASBE(M, £4)
10,0002 * 50021 * 23| 10,000
303 EAD 5,000 0 5,000
01 ZAZ 5,000 0 5,000




UM E XA
A ARIEXDIE 25

CNASHAASKE

_ _ _ Muo
SNBSS - HRAY - BHES Aboy e HIRZE2
03122009 0I2E)| SAEN Za3
500,008 * 10745 A 5,000
<O ACIETIVES! 20,000 20,000 0
2 SIABNBE 20,000 20,000 0
ONASHE ¢ SHIE 2X3
20,000,000 *14} 20,000
MEE X2 4,050 3,300 750
01 YsrBaZ 2,250 1,500 750
EITENE 2,250 1,500 750
OMEB! AIBIRSDS oft]
50,0008 * 1591 * 13| 2,250
307 BI2t0IH 1,800 1,800 0
REIEIE RIS 1,800 1,800 0
OME Bl 2+E3l #A
30,0009 * 602! * 13l 1,800
HASHAHSNAZL 2% X2 107,000 110,000 3,000
202 01l 27,000 30,000 3,000
04 =HISH0iH] 27,000 0 27,000
OFMSNR 2H 3 01H|
27,000,008 * 14 27,000
203 REXY| 80,000 80,000 0
03 AHEYREXY| 80,000 80,000 0
OANHETY L =T 80,000,000 * 1Al 80,000
Sgol(x0)es 857,841 613,362 244,479
= 493,245
= 154,176
= 175,434
Al 34,986
CETINPEX= 523,779 420,000 103,779
= 366,645
= 157,134
307 BI2tOIH 523,779 420,000 103,779
=2 366,645
= 157,134
02 BIABNEX 523,779 420,000 103,779
ORgolAEeYy 523,779,000 * 14 523,779




K- E3 .S (3H) - MBAY - B Ao gggf; HRS2
= 366,645
o= 157,134
SOIAAE Jls 2 13,200 N9,400
= 6,600
== 3,300
Al 3,300
402 QIZHXFE0| A 13,200 N9,400
= 6,600
= 3,300
Al 3,300
02 QI2FHCHEH A HI 13,200 A9,400
ORHANEIIsEL 13,200,000& * 14 13,200
= 6,600
o= 3,300
Al 3,300
C=NESAE 29 162,362 0
= 164,176
Al 8,186
307 QIZtolA 162,362 0
= 154,176
Al 8,186
02 QUHFAEX 162,362 0
OL=i BESAMERIA(TGAIMN=E L 1A
) 81,181, 000& 204 A 162,362
= 154,176
Al 8,186
sied X A& 8,500 3,600
301 LEEAS 4,900 0
01 MIBEH=HI3 4,900 0
OL=TH&AX) AFZE ZH2id]
500, 000& x5 2,500
OdAX HIFEX (b 10,000& 20021 x 12& 2,400
307 QIZtOIA 3,600 3,600
05 oItz 3,600 3,600
O0F2F & B K 01
20,000& *153| x12& 3,600




AN FRMETA D
M RNSAZ=X0IBE 2=
el 22ol(L=0)2s (9l &2
SN S(B) - NRAY - B2 O] &k o8 Bl =2
0l &
BEANE dASH(REQ) 150,000 0 150,000
= 120,000
= 15,000
Al 15,000
307 glzZtold 150,000 0
= 120,000
= 15,000
Al 15,000
02 glztH & 150,000 0
O &AL
150,000,000& * 14! 150,000
= 120,000
< 15,000
Al 15,000
tEs 2tel & 247,240 321,138
= 3,600
Al 243,640
A2 ALY = 247,240 321,138
= 3,600
Al 243,640
22AE el 26,240 26,240
201 er24d 7,000 7,000
01 At=2tel 2,000 2,000
O1 LBt 2,000
DEEY 2,000,000 = 14l 2,000
02 2324 5,000 5,000
O1 338 5,000
DEEE 300,000& = 123 3,600
>EsE
50,000& * 122 600
>EEE =
150,000& * 23] 300
>EHEY
500,000& * 14! 500
202 OdHl 9,240 9,240
01 =UWobl 9,240 9,240
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SN FOIME XD
Ma: 20 22 el U K
ol BE MY ALY 3 (5l &2
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
03 AMEISHEES 116,600 107,700 8,900
OUsteI= ¥22AYRES AN
4,375,0002! #43] 17,500
OUEDI= M22H0IL0Is AFAIXE
3,725,000 * 43| 14,900
OUHEeI= &0I2F3 XA
3,575,0002 * 43| 14,300
OUEeI= 224213 FFAXE
3,700,002 * 43l 14,800
OUBIoI= HELER 22 B3 AFA
X3l 2,250,0008 * 23] 4,500
OUstel= DEH H28 X3
3,250,0008 * 43l 13,000
OUHEEI= 6 BAHPRBR AFAIXS
4,500,0008 * 1| 4,500
ORFAl WETOISI(6- 258Y H59EH
IIEEIND 10,000,008 * 13| 10,000
O=3 AFAXE 19,300, 0002 * 14! 19,300
OUseI =R S+YR48 XI5 AFX3
3,800, 00024 #14} 3,800
SYRITN RF 2ASH N 12,000 9,798 2,202
= 3,600
Al 8,400
307 eI2t0|H 12,000 9,798 2,202
= 3,600
Al 8,400
NBEEEEET] 12,000 9,798 2,202
OSERBX RS 2=H X
12,000,008 * 14} 2,000
= 3,600
Al 8,400
2l ALE A 3 269,657 266,404 3,253
= 24,339
= 18,983
Al 226,335
NEENEESE 269,657 266,404 3,253
= 24,339
= 18,983
Al 226,335




AN FRMEXA D
M AHESMEds
o9 NEASAESH (S5 &)
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
BFANNEESALEH 2SS 172,040 130,000 42,040
307 QIZt0IA 172,040 130,000 42,040
02 2I2tda=gx 172,040 130,000 42,040
O3 A ANESAEH 2S XA
172,040,000& * 14! 172,040
&S AE 2CIUHI0IE XI&A 30,470 29,894 576
= 15,235
& 4,570
Al 10,665
307 QIZt0IA 30,470 29,8% 576
= 15,235
= 4,570
Al 10,665
02 2Itda=Ex 30,470 29,894 576
OXr& A ZCIUIOIE X2
30,470,00080 * 14! 30,470
= 15,235
< 4,570
Al 10,665
AN ESAR Q&K A 6,000 6,000 0
301 etEa=s 6,000 6,000 0
10 BAIAHIENS 6,000 6,000 0
OJFAMIASAR S&X H=
50,000& »120¢! 6,000
MNEIZ2X MEES 36,000 36,000 0
= 10,800
Al 25,200
201 ZEH2IH] 36,000 36,000 0
= 10,800
Al 25,200
01 Atf2teld 36,000 36,000 0
OAt2l =X AMEE= 36,000,000& * 14l 36,000
= 10,800
Al 25,200
FA MHRASALL U3 4,000 4,000 0
307 QIZt0IA 4,000 4,000 0




SN FOMET R
M N SAHEY S
CHol: R ZAE S A2 (et9l: &2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
04 OI2tSHAIE X 4,000 4,000 0
O3 Al JH3SALA T3
4,000,000 * 14 4,000
ANA2AAH EE2 A 18,207 22,000 N 3,793
= 9,104
& 2,731
Al 6,372
307 Q20| A 18,207 22,000 N3,793
= 9,104
= 2,731
Al 6,372
02 0QI2tHAEH X 18,207 22,000 N3,793
ORNAZAMT 2EE N
18,207,000 * 14 18,207
= 9,104
o= 2,731
Al 6,372
)IP%%/\PIP AEEZ XY (Al AISIE2XE 23 2,940 2,510 430
== 882
Al 2,058
307 QIZtol A 2,940 2,510 430
= 882
Al 2,058
02 oIt AE X 2,940 2,510 430
OXLLE2AR AoHEE I (K FAIAIE £ X
893]) 2,940,000& * 14 2,940
= 882
Al 2,058
nEsl 8= 2,803,980 2,270,892 533,088
= 165,555
Al 2,648,425
ME=YNE=] 2,803,980 2,270,892 533,088
= 165,555
Al 2,648,425
S HOUEXZ WA & 766,900 968,425 A 201,525




S FEOIMER R D
HE: DK=X HE
ol e (S5l &2)
_ _ _ Muo
SA BB H(BH) - MBAY - B2 Ofl & o il b o B2
308 RHXIEHHSOIH 766,900 968,425 A201,525
05 KxCHHASLD 766,900 968,425 A201,525
OROISEDA KI® 766,900,002 * 14 766,900
MESHEO0 042 24 DDM KRS XA 40,000 32,000 8,000
308 RHXIEHHSOIH 40,000 32,000 8,000
05 XXICSHALLD 40,000 32,000 8,000
OMEEWTO| Of2i2 24 DD Hst &
s ng 5,000,0002 * 89! 40,000
DEAL N 1,278,563 405,220 873,343
201 sreg| 1,260 1,260 0
01 AtRZ2Ib] 1,260 1,260 0
03 2g4+g 1,260
DREEA DEAY PED Aol &
sAg 70,0002 * 921 * 23] 1,260
202 Ofl 3,960 3,960 0
01 =Cfoid| 3,960 3,960 0
ORSN AL 28 ofy|
3,960,0008 * 14! 3,960
308 KXISASOIH 1,273,343 400,000 873,343
06 RSJI2NUE2ES 1,273,343 400,000 873,343
OZYZSaD U2N AHFAL &3
150,000,008 * 14} 150,000
O%S MDY 2% XY
150,000,008 * 4041 600,000
ONSZESD SAAE B0hsl
120,000,008 * 14 120,000
ONRAZEZSSD BMUSSME &
37,000,008 * 14! 37,000
OZEZsD UIls THZ 2
161,500,008 * 14] 161,500
OMXNINIESD SELISAI S
174,000,008 * 14 174,000
OXZISSD MSBEHFA HEL A
19,143,0002 * 1A 19,143
OMNBZESED THA 21222
11,700,008 * 14 1,700
SLEAS SHDIAXBAL 518,517 515,247 3,270
= 155,555
Al 362,962




SN EOIME A D
Ny DS=X 25
ool nsAR CRE-E)
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 0f Ao Sl ko HRs2
308 AtXISH X SO0l& 518,517 513,987 4,530
& 155,555
Al 362,962
06 WEI|IZ0HExS 518,517 513,987 4,530
OS4sae StDSAXA Al
518,517,000& * 14l 518,517
= 155,555
Al 362,962
SO E gtz St 200,000 350,000 A 150,000
308 AHXIHXMSOIH 200,000 350,000 A 150,000
06 WEI|IZ0CHeExS 200,000 350,000 A 150,000
OSM0E ¢U% 8D X
200,000,000& * 14l 200,000
HY2HZH(FUMET R D) 87,198 94,268 AT,070
Ol 2 | (FRUMBT D) 48,942 50,348 A1,406
el A 48,942 50,348 A 1,406
101 ol t| 44,742 46,148 A 1,406
022 =% 44,742 46,148 21,406
OAlZte 282 7,4573 » 209! * 300Al2¢ 44,742
203 YRFL&Y| 4,200 4,200 0
04 SA=IAREAY| 4,200 4,200 0
OFRMSIYRFAI 350,000& = 12& 4,200
Jl2ZHI(F2 X 21 38,256 43,920 Ab5,664
Jl=23| 38,256 43,920 Ab,664
201 B2 EH] 31,536 32,760 A1,224
01 AtER2teldl 18,936 15,960 2,976
O1 Zet==24| 14,400
PEMAZSE ==l 1,200,000& = 12& 14,400
O5 =&l 4,536
SV EIEEIE
7,000& = 182! 33| » 12& 4,536
02 23244l 12,600 16,800 A4,200
O1 BTN L HAl 12,600
PRERS 1,7503 * 3024 * 20 « 128 12,600
202 Od4Hl 6,720 11,160 A4,440
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